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[8/9-G]                    No. of printed pages : 03 

SARDAR PATEL UNIVERSITY 

F. Y. B. Com. (Gen. & Hon.) Examination 

2013 

Wednesday, 20
th 

March 

11 to 1 p.m. 

UB02ECOM01/17- Corporate Accounting  II 
 

Ly$g NyZ : 60 
_p¢^ : S>dZu bpSy> v$ip®h¡g Ap„L$X$p dpL®$k bsph¡ R>¡. 
 
â.1 _uQ¡_y„ `pLy$ kfh¥ey„ Apfu_ A¡dp¡_uep âp¡X$¼V$ guduV¡$X$_y„ spfuM 31-3-1999_p fp¡S> `|fp \sp  

 (15) 
 hj®_y„ R>¡. 

`pLy$ kfh¥ey„ 
 

d|X$u+v$¡hp„ fL$d rdgL$s+g¡Zp„ fL$d 
kÑphpf d|X$u: 
20000 B. i¡f ê$p. 10_p¡ 
A¡L$ A¡hp 

 
 

200000 

S>du_-dL$p_ 
àgpÞV$-diu_fu 
`fQyfZ v$¡hpv$pfp¡ 

75000 
45000 
35000 

blpf `pX¡$g 10000 B. 
i¡f ê$p. 10_p¡ A¡L$ A¡hp 

 
100000 

h¡`pf õV$p¡L$ 
lp\ `f fp¡L$X$ 

25000 
20000 

3000, 5%_p fuX$ud¡bg 
â¡afÞk i¡f ê$p. 10_p¡ A¡L$ 

 
30000 

  

d|X$u A_pds 20000   
kpdpÞe A_pds 12000   
_ap-_yL$ip_ Mpsy„ 15000   
g¡Zv$pfp¡ 23000   
 200000  200000 

 h^pfp_u dprlsu : 
  L„$`_uA¡ 2000 B[¼hV$u i¡f ê$p. 10_p cph¡ ê$p. 2_p râdued\u fp¡L$X¡$\u blpf 

`pX$ép A_¡ 5%_p 3000 fuX$ud¡bg â¡a. i¡f d|m qL$ds¡ `fs L$ep®. 
  D`fp¡¼s dprlsu `f\u S>ê$fu Apd_p¢^ gMu _hy„ `pLy$ kfh¥ey„ s¥epf L$fp¡. 

 
A\hp 

â.1 
(A) fuX$ud¡bg â¡afÞk i¡f A„N¡_u L„$`_u^pfp_u Å¡NhpBAp¡ hZ®hp¡.      

 (06) 
 
(b) A¡L$ L„$`_u s¡_u 500000 ê$p._u fuX$ud¡bg â¡afÞk i¡fd|X$u 10% râdued¡ `fs L$fhp_y„ BÃR>¡  

 (09) 
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 R>¡. _ap-_yL$ip_ Mpsy„ ê$p. 112500 s\p i¡f rârded Mpsy„ ê$p. 10000_u S>dp bpL$u 
v$ip®h¡ R>¡. _hp i¡f ê$p. 10_p¡ A¡L$ A¡hp 5%_p hV$ph\u blpf `pX$hpdp„ Aph¡ R>¡. L„$`_uA¡ 
L¡$V$gu qL„$ds_p _hp i¡f blpf `pX$hp `X$i¡ s¡_u NZsfu L$fp¡. 

 
â.2 
(A) `pOX$u_¡ Akf L$fsp„ `qfbmp¡ rhNs¡ hZ®hp¡.         

 (09) 
(b) _uQ¡_u dprlsu `f\u fp¡L$pe¡gu d|X$u ip¡^p¡.          (06) 
 

 ê$p.  ê$p. 
S>du_-dL$p_ 12000

0 
v$¡hpv$pf 4000

0 
àgpÞV$-diu_ 60000 fp¡L$X$ A_¡ b¡ÞL$ 1500

0 
ar_®Qf 40000 âp\rdL$ MQ® 1000

0 
6% qX$b¢Qf 50000 qX$b¢Qf hV$ph 5000 
g¡Zv$pfp¡ 30000 âp¡rhX$ÞV$ a„X$ 5000 
Okpfp a„X$ (àgpÞV$-e„Ó 
`f) 

20000 7.5% kfL$pfu 
Ådu_Nufu 

1000
0 

 

 Å¡ hj® v$frdep_ _ap¡ ê$p. 34000 dm¡ sp¡ kf¡fpi fp¡L$pe¡gu d|X$u ip¡^p¡. 
A\hp 

â.2 l¡Ðhu rgrdV¡$X$_y„ spfuM 31-3-1998_p fp¡S> `|fp \sp hj®_y„ `pLy$ kfh¥ey„ _uQ¡ âdpZ¡ R>¡.  

 (15) 
 

d|X$u+v$¡hp„ fL$d rdgL$s+g¡Zp„ ê$p. 
B[¼hV$u i¡fd|X$u ê$p. 
10_p¡ A¡L$ A¡hp 

 
180000 

`pOX$u 
àgpÞV$ 

10000 
120000 

A_pds A_¡ h^pfp¡ 20000 ar_®Qf 5000 
g¡Zv$pfp¡ 50000 õV$p¡L$ 80000 
v$¡hu lŸ„X$u 20000 v$¡hpv$pf 40000 
Q|L$hhp_p bpL$u MQp® 5000 ANpD\u Q|L$h¡g MQ® 3000 
  fp¡L$X$ A_¡ b¡ÞL$ 17000 
 275000  275000 

 

 h^pfp_u dprlsu : 
1. rdgL$sp¡_p _uQ¡ dyS>b D`Äep. 
 àgpÞV$ ê$p. 110000, õV$p¡L$ ê$p. 87000, ar_®Qf ê$p. 6000 A_¡ v$¡hpv$pf ê$p. 36000 
2. L$fh¡fp bpv$_p¡ R>¡‰p ÓZ hj®_p¡ _ap¡ A_¡ cpf _uQ¡ dyS>b R>¡. 
 hj®    _ap¡   cpf 
 31-3-1996  30000  1 
 31-3-1997  33000  2 
 31-3-1998  31000  3 
3. Aphp S> âL$pfdp„ „̂^pdp„ fp¡L$pe¡gu d|X$u `f hmsf v$f 10% R>¡. 
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4. kf¡fpi _ap_p Ap^pf¡ D`fp¡¼s dprlsu `f\u Mfuv$u_p ÓZ hj®_¡ Ap^pf¡ `pOX$u_u qL„$ds _½$u 
L$fp¡. 

 
â.3 NhpõL$f rgrdV¡$X$_y„ sp. 31-3-1998_p fp¡S> `|fp \sp hj®_y„ `pLy$ kfh¥ey„ _uQ¡ âdpZ¡ R>¡.  

 (15) 
 

`pLy$ kfh¥ey„ 
 

d|X$u+v$¡hp„ fL$d rdgL$s+g¡Zp„ ê$p. 
B. i¡f ê$p. 100_p¡ A¡L$ 
A¡hp 

200000 S>du_-dL$p_ 
àgpÞV$ 

60000 
80000 

kpdpÞe A_pds 40000 fp¡L$pZp¡ 40000 
g¡Zv$pfp¡ 60000 õV$p¡L$ 50000 
  v$¡hpv$pf 30000 
  b¡ÞL$ rkgL$ 40000 
 300000  300000 

 

 h^pfp_u dprlsu : 
1. rdgL$sp¡_p _uQ¡ dyS>b D`Äep 
 S>du_-dL$p_ ê$p. 75000, àgpÞV$ ê$p. 70000, õV$p¡L$ ê$p. 45000 
2. D`fp¡¼s dprlsu_p Ap^pf¡ R>¡‰p ÓZ hj®_p kf¡fpi Ar^L$ _ap_¡ Ap^pf¡ „̂^p_u Mfuv$u_p 

b¡ hj®_p Ap^pf¡ `pOX$u_u NZsfu L$fp¡. Ap S> âL$pf_p¡ „̂^p¡ L$fsu L$`_u_p¡ fp¡L$pe¡g d|X$u 
`f hmsf v$f 10% R>¡. 

 L$fh¡fp bpv$_p¡ R>¡ëgp ÓZ hj®_p¡ kf¡fpi _ap¡ _uQ¡ âdpZ¡ R>¡. 
    hj®        _ap¡  cpf 
 1995-96    ê$p. 32000  1 
 1996-97    ê$p. 47000  2 
 1997-98    ê$p. 52000  3 
 D`fp¡¼s fL$ddp„ (L$fh¡fp bpv$)dp„ fp¡L$pZp¡ `f hprj®L$ ê$p. 2000_p ìepS>_p¡ kdph¡i 

\e¡g R>¡. 
 D`fp¡¼s dprlsu `f\u i¡f_u "Ap„sqfL$' qL„$ds _½$u L$fp¡. 

A\hp  
â.3 

(A) i¡f_p d|ëe_¡ Akf L$fsp„ `qfbmp¡ QQp£.          (10) 
 

(b) i¡f_p d|ëep„L$__u S>ê$qfeps iy„ R>¡ ?           (05) 
 

â.4 Apip rgrdV¡$X$_u sp. 31-12-2004_u dprlsu _uQ¡ âdpZ¡ lsu.      (15) 
 6% dp¡N£S> qX$b¢Qf    ê$p. 275000 
 qX$b¢Qf `fsr_r^ a„X$    ê$p. 270500 
 qX$b¢Qf `fsr_r^ a„X$_p fp¡L$pZp¡ 
 1. 5% NyS>fps kfL$pf gp¡_   ê$p. 132000 
  (d|. qL„$ds Mfuv$u) 
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 2. 6% fprô²$e k„fnZ bp¡ÞX$  ê$p. 135500 
  (d|.qL„$ds 140000)     ê$p. 267500 
  spfuM 28-2-2005_p fp¡S>, 5% NyS>fps kfL$pf_u gp¡_ A_¡ 6% fprô²$e k„fnZ 

bp¡ÞX$ ê$p. 110A_¡ 98_p cph¡ A_y¾$d¡ h¡Qhpdp„ Apìep A_¡ s¡S> qv$hk¡ qX$b¢Qf ê$p. 
102_p cph¡ _tl Q|L$hpe¡g ìepS> krls `fs L$fhpdp„ Apìep. qX$b¢Qf_y„ ìepS> spfuM 
31-12-2004ky^u_y„ Q|L$hhpdp„ Apìey„. S>ê$fu Mpsp s¥epf L$fp¡. 

 
A\hp 

â.4 
(A) qX$b¢Qf_p âL$pfp¡ hZ®hp¡.            

 (08) 
 
(b) sp. 1-1-02_p fp¡S> "A' rgrdV¡$X¡$ ê$p. 100000_p qX$b¢Qf 6%_p hV$ph¡ blpf `pX$ép. v$f hj®  

 (07) 
 ê$p. 20000_p hprj®L$ lá¡ qX$b¢Qf `fs L$fpe R>¡. D`fp¡¼s dprlsu `f\u qX$b¢Qf hV$ph 

Mpsy„ s¥epf L$fp¡. 
 
 




